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Define the d'V) , matrix as d, and the V matrix V = {V, V, V_}, as V below.

1
sin[B], = (1-Cos[B])},
2 2

1
{(-———] sin[B], Cos[B], -
NP

Vx + 1 Vy
L V= {_ T ———— 4 vz,

V2~

={{§<1+Cos[/3]>,—[——

1
—-—] sin[/s]}, {— (1-Cos[Bl), [—
vz 2 2

Vx—-J'lVy)};

V2

1
Js:'m[/s], ~ (1+cos(BD) }}s

Now simply do the matrix multiplication as indicated to get the V’ vector, rotated an angle 8 around the y axis.

iw d.V // FullSimplify // MatrixForm

-1 Vy-Vx Cos [B]-Vz Sin[#]
\/2_
Vz Cos[3] - Vx 8Sin (/3]
-1 Vy+Vx Cos [3]+Vz Sin[f]
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